
General Solution of Standard Trigonometrical Equations. 
 

(1) General solution of the equation sin  = sin: If  sinsin   or 0sinsin      
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 = (any even multiple of  ) +   or   = (any odd multiple of ) –  
Inαnnπθ  ;1)(  

 
Note: The equation  coseccosec   is equivalent to  sinsin  . So these two equation having the 
same general solution. 
 
(2) General solution of the equation cos = cos : If  coscos   0coscos   
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 Inn  ;2  or Inn  ;2  . for the general solution of  coscos  , combine 
these two result which gives Inαnπθ  ;2  

 
 
Note: The equation  secsec   is equivalent to ,coscos    so the general solution of these 
two equations are same. 
 

(3) General solution of the equation tan   = tan  :  If   tantan  
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Note: The equation  cotcot   is equivalent to  tantan   so these two equations having the same 
general solution. 
 


